CCNA 2 Module 4 Exam Visual Descriptions.

The question is as follows:

Which of the following is true regarding CDP….

(question incomplete refer exam)

The diagram depicts 5 routers, they are named Router A, Router B,

Router C, Router D and Router E. Router A is linked directly to Router C and Router C is linked directly to Router E.  Router E is linked directly to Router D and Router D is directly connected to Router B which is then directly connected to Router A. So to visualise the link you would see a Pentagon with A linked to C, C linked E, E linked to D, D linked to B and B linked to A.

The question is as follows:

Which command will produce the output….

(question incomplete refer exam

The diagram depicts a router configuration screen with the Router# shown.  The output given by this given command display’s the information:

Global CDP information:

Sending CDP packets every 60 seconds

Sending a holdtime value of 180 seconds

Sending CDPv2 advertisements is enabled

The question is as follows:

Pings between Atlanta and Dallas are successful.  If a hostname table or DNS connection is not available, which command successfully establish…

(question incomplete refer exam)

(question continues on next page)

The diagram depicts two routers lined by serial connection to a “Cloud” which is the unknown.  The cloud usually represents the DCE – DTE connection through the serial port.  The Atlanta router 

Has it’s Serial Interface 0 configured with an IP address of 201.100.53.1/24 and has the serial link directly to the cloud.  Linking the cloud to the Dallas router is another serial link.  The Dallas router has it’s Serial Interface 0 port configured with an IP address of 197.72.3.2/24.

The questions is as follows:

If the network administrator establishes a telnet session from Workstation 2  to GAD and then from GAD to BHM….

(question incomplete refer exam)

The diagram depicts two Workstations named workstation 1 and 2, a layer 2 Switch and two routers named BHM and GAD.  Workstation 1 and 2 are directly linked by straight-through Cat 5e network cable to the layer 2 Switch.  The Switch is only directly connected to Router GAD by straight-through Cat 5e cable.  Router GAD is then directly connected by means of a Serial link to Router BHM.

The question is as follows:

The traceroute command was used to trace the path between routers A and D.  What would an output display of three…

(question incomplete refer exam)

The diagram depicts a “Cloud” with 4 routers within the boundaries of the cloud.  The routers are named Router A, Router B, Router C and Router D.  Router A has an arrow pointing out of it, the arrow is pointing in the direction of Router B.  Router B has an arrow pointing out of it, the arrow is pointing in the direction of Router C.  Router  C has an arrow pointing out of it, the arrow is pointing in the direction of Router D. 
